See Order for proposed schedule and charges.	See Invoice for actual schedule and charges.
	, hereby request station time as follows:
I IDENTIFICANDIDATE TYPE	ERAL CANDIDATE
STAT	E OR LOCAL CANDIDATE
ALL QUESTIONS/BLOCK	KS MUST BE COMPLETED
Candidate name: PARICK June	
Authorized committee:	
Committee & Elect Poto	Jones Supervison Dist
Agency requesting time (and contact information):	The second secon
NA Modin Plus	
Candidate's political party:	
Republician	
Office sought (no acronyms or abbreviations):	
Thacks Louring Supercorse	n Distrect 4
Date of election:	General Primary
3-5-24	
Treasurer of candidate's authorized committee:	
Lynda Kent	en de de despes de des la compansación de la defensación de la despesación de la despesación de la compansación de la compansac
The undersigned represents that:	
(1) the payment for the broadcast time requested has been fur	mished by (check one box below):
the candidate listed above who is a legally qualified car	ndidate, or
the authorized committee of the legally qualified candi	date listed above;
(2) this station is authorized to announce the time as paid for b	y such person or entity: and
(3) this station has disclosed its political advertising policies, including and other sales practices.	cluding applicable classes and rates, discount, promotion
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee/Agency	Station Representative
Signature:	Signature:
To Curry	Signature.
Name: Chars Eurocasi	Name: MAUK Fitzmayer
Date of Request to Purchase Ad Time: 12-4-23	Date of Station Agreement to Sell Time: ///8/242 4

the candidate approved the broadca broadcast or if radio programming of	at the broadcast matter to be aired pursualles, (2) contains a clearly identifiable photons and a simultaneously displayed printed	ant to this disclosure either (1) does not refer ograph or similar image of the candidate statement identifying the candidate, that didate's authorized committee paid for the se candidate that identifies the candidate,
Candidate/Authorized Committe		
Signature:		
Name:		
Date:		
5 <i>a</i>	TO BE COMPLETED BY STATION	· · · · · · · · · · · · · · · · · · ·
Ad submitted to Station?	Yes No Date ad receiv	
Note: Must have separate PB-19 F	orms for each version of the ad (i.e.,	for every ad with differing copy).
Federal candidate certification signed	(above): Yes N	o N/A
Rejected – provide reason:	opy not yet received to determine sponso	
*Upload partially accepted form, then	promptly upload updated final form whe	n complete.
Date and nature of follow-ups, if any (e	g., insufficient sponsor ID tag):	
Contract #: 2007 44	Station Gall Letters:	Date Received/Requested:
Est. #: N/A	Station Location:	Run Start and End Dates:
purchased or attach separately. If statio	on will not upload the actual times are the	ents reflecting this transaction to the OPIF or ed, the rates charged and the classes of time aired until an invoice is generated, the name aced in the "Terms and Disclosures" folder in

MEDIA PLUS

PO BOX 494460

REDDING, CA 96049-4460



Advertiser:

PATRICK JONES (AGY)

Order #: Contract #:

2723009582525 200744

Date Entered:

01/18/2024

Last Modified: Product: 01/18/2024

Salesperson:

House Redding House

Billing Cycle:

Calendar Month

Estimate #:

Order Date Range: 02/01/2024 through 02/29/2024 (5 weeks) Media Outlets: KQMS-AM, KRDG-FM, KSHA-FM

On-Air Schedule

#	Dates Station	Time/Program	Len	Mo	Tu	Ne	Th	Fr	Sa	Su	S/W	Rate	Qty	Total
1	02/01/24-02/02/24 KQMS-AM	06:00AM-07:00PM	60				6	6			12	25.00	12	300.00
2	02/05/24-02/09/24 KQMS-AM	06:00AM-07:00PM	60	6	8	8	8	8			38	25.00	38	950.00
3	02/12/24-02/16/24 KQMS-AM	06:00AM-07:00PM	60	8	8	8	8	8			40	25.00	55.73	
4	02/19/24-02/23/24 KQMS-AM	06:00AM-07:00PM	60	4	4	4	4	4					40	1,000.00
5	02/26/24-02/29/24 KQMS-AM	06:00AM-07:00PM	60	6	1000	16.5	4	4		177	20	25.00	20	500.00
6	02/01/24-02/02/24 KRDG-FM	06:00AM-07:00PM	7	0	6	6	ь				24	25.00	24	600.00
7	02/05/24-02/09/24 KRDG-FM		30				6	6		-	12	10.00	12	120.00
8		06:00AM-07:00PM	30	8	8	8	8	8			40	10.00	40	400.00
953	02/12/24-02/16/24 KRDG-FM	06:00AM-07:00PM	30	8	8	8	8	8			40	10.00	40	400.00
9	02/19/24-02/23/24 KRDG-FM	06:00AM-07:00PM	30	5	5	5	5	5			25	10.00	25	250.00
10	02/26/24-02/29/24 KRDG-FM	06:00AM-07:00PM	30	6	6	6	6				24	10.00	24	
11	02/01/24-02/02/24 KSHA-FM	06:00AM-07:00PM	30	- 2			8	8						240.00
12	02/05/24-02/09/24 KSHA-FM	06:00AM-07:00PM	30	8	8	0	~	_			16	15.00	16	240.00
13	02/12/24-02/16/24 KSHA-FM	06:00AM-07:00PM	30	1	200	8	8	8			40	15.00	40	600.00
14	02/19/24-02/23/24 KSHA-FM		350000	8	8	8	8	8			40	15.00	40	600.00
		06:00AM-07:00PM	30	6	6	6	6	6			30	15.00	30	450.00
13	02/20/24-02/29/24 KSHA-FM	06:00AM-07:00PM	30	6	6	6	6	77			24	15.00	24	360.00

Station Totals

Station	On-Air CountDigital Count	Web Count Other C	ount	Gross BillingCommission	Net Billing
KQMS-AM	134 0	0	0	\$3,350.00 \$502.50	\$2,847.50
KRDG-FM	141 0	0	0	\$1,410.00 \$211.50	\$1.198.50
KSHA-FM	150 0	0	0	\$2,250.00 \$337.50	\$1,912.50
Totals	425 0	0	0	\$7,010.00 \$1,051.50	\$5,958.50

Total Charges:

\$7,010.00 \$1,051.50

Agency Commission: Total Net:

\$5,958.50

DUE UPON RECEIPT

	Projected B	illing By Calendar Month Month	
<u>Month</u>	<u>Year</u>	Gross Billing	Net Billing
February	2024	\$7,010.00	\$5,958.50
Totals		\$7,010.00	\$5,958.50

Accepted for Stephens Media Group

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

Name

FEBRUARY '24

F1X____

TO BE	
MUM	
IN ALCOHOL: UNIVERSITY OF THE PERSON NAMED IN COLUMN TWO IN COLUMN TO THE PERSON NAMED IN COLUMN	-

_		*					
	SUN	MON	TUES	WED	THURS	FRI	SAT
					1	2	3
					64	64	
	4	5	6	7	8	9	10
		•					
		by	8>	man man and an	and different A s and the second		
	11	12	13	14	15	16	17
		8					
	18	19	20	21	22	23	24
		40		art, and the state of the state	and the second s		
	25	26	27	28	29		
		4					

CLIENT:	Patrick Jones Supervisor Dist	LENGTH:	:60
4.457	INSTRUCTIONS		129, 124
A 1X	6 a.m 7 p.m.	FREQUENCY:	120010
B 1X		RATE:	25.00
C 1X	match	TOTAL:	<u> </u>
D 1X	PATRICK - 1 - 24 R	CO-OP:	\$3,350
E 1X	PATRICK - 2 - 24 R	***************************************	

See Order for proposed schedule and charges.	See Invoice for actual schedule and charges.
1. Media Plus	, hereby request station time as follows:
IDENTIFY CANDIDATE TYPE	ERAL CANDIDATE E OR LOCAL CANDIDATE
ALL QUESTIONS/BLOCK	(S MUST BE COMPLETED
Candidate name: Patrick June	
Authorized committee:	
Committee to Elect Hotel	Jones Supervison Dist
Agency requesting time (and contact information):	and the state of t
NA Modia Flus	
Candidate's political party:	
Ropublician	
Office sought (no acronyms or abbreviations):	
Thacks Louring Supercurse	n District 4
Date of election: 3-5-24	General
Treasurer of candidate's authorized committee:	
Lynda Kent	en an manage state a management and the state of the stat
The undersigned represents that:	
(1) the payment for the broadcast time requested has been ful	
the candidate listed above who is a legally qualified car	ndidate, or
the authorized committee of the legally qualified candi	
(2) this station is authorized to announce the time as paid for b	y such person or entity; and
(3) this station has disclosed its political advertising policies, including and other sales practices.	luding applicable classes and rates, discount, promotion
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee/Agency	Station Representative
Signature:	Signature:
Name: Chars Eurocali	Name: MANK FITZMAYEN
Date of Request to Purchase Ad Time: 12-4-23	Date of Station Agreement to Sell Time: 1/18/224

Federal Candidate Certification		
The undersigned hereby certifies that to an opposing candidate or, if it does for a duration of at least four second the candidate approved the broadcast or if radio programming of	at the broadcast matter to be aired pursuales, (2) contains a clearly identifiable photos	statement identifying the candidate, that
Candidate/Authorized Committe	ee/Agency	
Signature:		
Name:		to the sent are full than an employ are true constitution and the sent to the
Name:		
Date:		
	TO BE COMPLETED BY STATION	ONLY
Ad submitted to Station?	Yes No Date ad receiv	
Note: Must have separate PB-19 F	orms for each version of the ad (i.e., f	or every ad with differing copy).
Federal candidate certification signed	(above): Yes No	N/A
Disposition: Accepted Accepted IN PART (e.g., ad co	opy not yet received to determine sponso	r ID)*
Rejected – provide reason:		
"Upload partially accepted form, then	promptly upload updated final form when	n complete.
Date and nature of follow-ups, if any (e	e.g., insufficient sponsor ID tag):	
Contract #: 2007 44	Station Call Letters:	Date Received/Requested:
Est. #: N/A	Station Location:	Run Start and End Dates:
purchased or attach separately. If static	on will not upload the actual times are the	nts reflecting this transaction to the OPIF or ed, the rates charged and the classes of time red until an invoice is generated, the name ced in the "Terms and Disclosures" folder in



MEDIA PLUS PO BOX 494460

REDDING, CA 96049-4460

Advertiser: Order #:

PATRICK JONES (AGY) 2723009582525

Contract #: Date Entered:

200744 01/18/2024 01/18/2024

Last Modified: Product: Salesperson:

House Redding House

Billing Cycle:

Calendar Month

Estimate #:

Order Date Range: 02/01/2024 through 02/29/2024 (5 weeks) Media Outlets: KQMS-AM, KRDG-FM, KSHA-FM

On-A	ir Schedule														
#	Dates	Station	Time/Program	Len	Мо	Tu	We	Th	Fr	Sa	SII	S/W	Rate	Ohi	
1	02/01/24-02/02/24	KQMS-AM	06:00AM-07:00PM	60				-6	-6	<u> </u>	<u>Ju</u>	12	25.00	Oty	Total
2	02/05/24-02/09/24	KQMS-AM	06:00AM-07:00PM	60	6	8	8	8	8					12	300.00
3	02/12/24-02/16/24	KOMS-AM	06:00AM-07:00PM	60	8	8	8	- 2	_			38	25.00	38	950.00
4	02/19/24-02/23/24		06:00AM-07:00PM	0.00	_	-	_	8	8			40	25.00	40	1,000.00
5	02/26/24-02/29/24			60	4	4	4	4	4			20	25.00	20	500.00
6			06:00AM-07:00PM	60	6	6	6	6				24	25.00	24	600.00
7	02/01/24-02/02/24		06:00AM-07:00PM	30				6	6			12	10.00	12	120.00
/	02/05/24-02/09/24		06:00AM-07:00PM	30	8	8	8	8	8			40	10.00	40	400.00
8	02/12/24-02/16/24		06:00AM-07:00PM	30	8	8	8	8	8			40	10.00	40	
9	02/19/24-02/23/24	KRDG-FM	06:00AM-07:00PM	30	5	5	5	5	5			25			400.00
10	02/26/24-02/29/24	KRDG-FM	06:00AM-07:00PM	30	6	6	6	7.0	3	77.		200	10.00	25	250.00
11	02/01/24-02/02/24		06:00AM-07:00PM			0	0	6				24	10.00	24	240.00
12				30				8	8		-	16	15.00	16	240.00
			06:00AM-07:00PM	30	8	8	8	8	8			40	15.00	40	600.00
13	,, 02/10/24		06:00AM-07:00PM	30	8	8	8	8	8	22.0		40	15.00	40	600.00
14	02/25/24 02/25/24		06:00AM-07:00PM	30	6	6	6	6	6			30	15.00	30	450.00
15	02/26/24-02/29/24	KSHA-FM	06:00AM-07:00PM	30	6	6	6	6				24	15.00		
					U	0	0	J	22411			24	15.00	24	360.00

Station Totals

<u>Station</u>	On-Air CountDigital	Count	Web Count Othe	r Count	Gross BillingCo	Net Billing	
KQMS-AM	134	0	0	0	\$3,350.00	\$502.50	\$2,847.50
KRDG-FM	141	0	0	0	\$1,410.00	\$211.50	\$1,198,50
KSHA-FM	150	0	0	0	\$2,250.00	\$337.50	\$1,912.50
Totals	425	0	0	0	\$7,010.00\$	1	\$5.958.50

Total Charges: Agency Commission: \$7,010.00 \$1,051.50

Total Net:

\$5,958.50

DUE UPON RECEIPT

	Projected B	illing By Calendar Month Month	
Month	<u>Year</u>	Gross Billing	Net Billing
February	2024	\$7,010.00	\$5,958.50
Totals		\$7,010.00	\$5,958.50

Name

Accepted for Stephens Media Group

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

MEDIA FEBRUARY '24

F1X

KRDG

SUN	MON	TUES	WED	THURS	FRI	SAT
				1	2	3
				6.	6.	
4	5	6	7	8	9	10
	8			nga ya saa ahalaan ah	S-1,	
11	12	13	14	15	16	17
	8-			Martine of the state and the state of the st		
18	19	20	21	22	23	24
	5-					
25	26	27	28	29		(Middlews) Nathboard (I. a. Lifess) was per
	bo		angunggan a - Park 1, Sangara e 214 Magandari angun			

CLIENT:	PATRICK JONES	— LENGTH:	:30
A 1X	INSTRUCTIONS	FREQUENCY:	14/~
B 1X	6 a.m 7 p.m.	RATE: _	10.00
C 1X	rotate PATRICK - 1 - 24 R	TOTAL; —	71410
D 1X	PATRICK - 2 - 24 R	CO-OP;	
E 1X	ACCEPTAGE AND ACCEPTAGE AND ACCEPTAGE AND ACCEPTAGE ACCE		

See Order for proposed schedule and charges	See Invoice for actual schoolule and de
1. Media Plus	. See invoice for actual scriedule and charges.
	, hereby request station time as follows:
IDENTIFY CANDIDATE TYPE STA	ERAL CANDIDATE TE OR LOCAL CANDIDATE
ALL QUESTIONS/BLOC	KS MUST BE COMPLETED
Candidate name: PATRICK June	
Authorized committee:	
Committee & Elect Pote	Jones Supervison Dist
Agency requesting time (and contact information):	
NA Modin Plus	
Candidate's political party:	
Kapiblician	
Office sought (no acronyms or abbreviations):	
Thack Louring Superesse	n District 4
Date of election: 3-5-24	General Primary
Treasurer of candidate's authorized committee:	
Lynda Kent	FT 10 TO 10
The undersigned represents that:	
(1) the payment for the broadcast time requested has been ful	mished by (check one box below):
the candidate listed above who is a legally qualified car	ndidate, or
the authorized committee of the legally qualified candi	date listed above;
(2) this station is authorized to announce the time as paid for b	v such person or entity; and
(3) this station has disclosed its political advertising policies, including and other sales practices.	cluding applicable classes and rates, discount, promotion
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee/Agency	Station Representative
Signature:	Signature:
1 July -	10
Name: Chars Eurocati	Name: MANK Fitzmayer
Date of Request to Purchase Ad Time: 12-1-1-23	Date of Station Agreement to Sell Time: ///8/2124

F 1 10 11 2 15		
for a duration of at least four seconds the candidate approved the broadcas broadcast or if radio programming, co	the broadcast matter to be aired pursuant s, (2) contains a clearly identifiable photogra and a simultaneously displayed printed stat at and that the candidate and/or the candida ontains a personal audio statement by the candidate has approved the broadcast.	aph or similar image of the candidate tement identifying the candidate, that
Candidate/Authorized Committe	e/Agency	
Signature:		
Name:		
Date:		
	TO BE COMPLETED BY STATION C	DNLY _
Ad submitted to Station?	Yes No Date ad received	:1/18/2024
Note: Must have separate PB-19 Fo	orms for each version of the ad (i.e., for	2 This is a property of the control
Federal candidate certification signed ((above): Yes No	N/A
Rejected – provide reason: *Upload partially accepted form, then p	py not yet received to determine sponsor IE	
Date and nature of follow-ups, if any (e.	g., insufficient sponsor ID tag):	
Contract #: 2007 44	Station Call Letters:	Date Received/Requested:
Est. #: N/A	Station Location:	Run Start and End Dates:
purchased or attach separately. If station	traffic system print-out) or other documents f time purchased, when spots actually aired, n will not upload the actual times spots aired at information immediately should be place	s reflecting this transaction to the OPIF or , the rates charged and the classes of time

MEDIA PLUS

PO BOX 494460

REDDING, CA 96049-4460



Advertiser:

PATRICK JONES (AGY)

Order #:

2723009582525 200744

Contract #: Date Entered:

01/18/2024

Last Modified:

01/18/2024

Product:

Salesperson:

House Redding House

Billing Cycle:

Calendar Month

Estimate #:

Order Date Range: 02/01/2024 through 02/29/2024 (5 weeks) Media Outlets: KQMS-AM, KRDG-FM, KSHA-FM

On-Air Schedule

-														
#	<u>Dates</u> <u>Station</u>	Time/Program	Len	Мо	Tu	We	Th	Fr	Sa	SII	S/W	Rate	Ottv	Total
1	02/01/24-02/02/24 KQMS-AM	06:00AM-07:00PM	60										Oty	<u>Total</u>
2	02/05/24-02/09/24 KQMS-AM	06:00AM-07:00PM	60	-	-		0	0			12	25.00	12	300.00
3	02/12/24-02/16/24 KQMS-AM		1000000	6	- E	8	8	8			38	25.00	38	950.00
4			60	8	8	8	8	8			40	25.00	40	1,000.00
	02/19/24-02/23/24 KQMS-AM	06:00AM-07:00PM	60	4	4	4	4	4			20	25.00	20	500.00
5	02/26/24-02/29/24 KQMS-AM	06:00AM-07:00PM	60	6	6	6	6				24	25.00	-327	
6	02/01/24-02/02/24 KRDG-FM	06:00AM-07:00PM	30	122		·	6	6			32500		24	600.00
7	02/05/24-02/09/24 KRDG-FM	06:00AM-07:00PM	10000	-			0	6	-		12	10.00	12	120.00
8	02/12/24-02/16/24 KRDG-FM		30	8	8	8	8	8			40	10.00	40	400.00
25.0		06:00AM-07:00PM	30	8	8	8	8	8			40	10.00	40	400.00
9	02/19/24-02/23/24 KRDG-FM	06:00AM-07:00PM	30	5	5	5	5	5			25	10.00	25	250.00
10	02/26/24-02/29/24 KRDG-FM	06:00AM-07:00PM	30	6	6	6	6				24		0.000	
11	02/01/24-02/02/24 KSHA-FM	06:00AM-07:00PM	30	- 5	0	·		_	4753		2000	10.00	24	240.00
12	02/05/24-02/09/24 KSHA-FM		V1505				8	8			16	15.00	16	240.00
13		06:00AM-07:00PM	30	8	8	8	8	8			40	15.00	40	600.00
10010000	02/12/24-02/16/24 KSHA-FM	06:00AM-07:00PM	30	8	8	8	8	8			40	15.00	40	600.00
	יין דאווטווארן דיין בון בטוביד ועסווארן ויין	06:00AM-07:00PM	30	6	6	6	6	6			30	15.00	30	나라 가게 가게 하다 때
15	02/26/24-02/29/24 KSHA-FM	06:00AM-07:00PM	30	6	6	6	6	~			100000			450.00
			30	O	0	0	0		-		24	15.00	24	360.00

Station Totals

<u>Station</u>	On-Air CountDigital Count	Web Count Other Cou	nt	Gross BillingCommission	Net Billing
KQMS-AM	134 0	0	0	\$3,350.00 \$502.50	\$2.847.50
KRDG-FM	141 0	0	0	\$1,410.00 \$211.50	\$1.198.50
KSHA-FM	150 0	0	0	\$2,250.00 \$337.50	\$1,912.50
Totals	425 0	0	0	\$7,010.00 \$1,051.50	\$5,958.50

Total Charges:

Total Net:

\$7,010.00

Agency Commission:

\$1,051.50 \$5,958.50

DUE UPON RECEIPT

Projected Billing By	Calendar	Month	Month
----------------------	----------	-------	-------

	ining by calendar Month Month	
Year	Gross Billing	Net Billing
2024	\$7,010.00	\$5,958.50
	\$7,010.00	\$5,958.50
	Year	2024 \$7,010.00

Accepted for Stephens Media Group

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

Name

MEDIA FEBRUARY '24

KS	H	I
	黑黑/	1

SUN	MON	TUES	WED	THURS	FRI	SAT
	5			1	2	3
				84	8~	
4	5	6	7	8	9	10
	8~				->	
11	12	13	14	15	16	17
	8,					
18	19	20	21	22	23	24
	64				_>	
25	26	27	28	29		
	b			>		

CLIENT:	PATRICK JONES	LENGTH;	:30
A 1X	INSTRUCTIONS	FREQUENCY:	/₺₺>
B 1X	6 a.m 7 p.m.	RATE:	15.00
C 1X	rotate PATRICK - 1 - 24 R	TOTAL; -	42250
D 1X	PATRICK - 2 - 24 R	CO-OP:	110014
E 1X			

See Invoice for actual schedule and charges.
, hereby request station time as follows:
ERAL CANDIDATE E OR LOCAL CANDIDATE
(S MUST BE COMPLETED
• 5
on Junes Supervison Dist
Constitution 2/3/
n Dishuck 4
General
4 Conserve than 1 - Conserve the conserve that the conserve the conserve the conserve that the conserve
nished by (check one box below):
ndidate, or
date listed above;
y such person or entity; and
luding applicable classes and rates, discount, promotion
RIMINATION ON THE BASIS OF RACE OR ETHNICITY
Station Representative
Signature: CAM
Name: MANK Fitzmayer
Date of Station Agreement to Sell Time: 1/18/2024

for a duration of at least four seconds at the candidate approved the broadcast	and a simultaneously displayed printed sta and that the candidate and/or	atement identifying the candidate, that
Candidate/Authorized Committee	e/Agency	
Signature:		
Name:		
Date:		
T	O BE COMPLETED BY STATION	ONLY
Adam Suria		ed: 1/18/2024
Note: Must have separate PB-19 Fo	rms for each version of the ad (i.e., fo	
Federal candidate certification signed (a	above): Yes No	N/A
*Upload partially accepted form, then p Date and nature of follow-ups, if any (e.g.		complete.
Contract #: 260745	Station Call Letters:	Date Received/Requested:
Est. #: NA	Station Location?	Run Start and End Dates: 3/1/2024
purchased or attach separately. If station	time purchased, when spots actually aired will not upload the actual times spots air	ats reflecting this transaction to the OPIF or d, the rates charged and the classes of time red until an invoice is generated, the name ced in the "Terms and Disclosures" folder in



MEDIA PLUS PO BOX 494460

REDDING, CA 96049-4460

Advertiser: Order #:

Contract #:

PATRICK JONES (AGY) 2723009582527

200745 Date Entered: Last Modified:

01/18/2024 01/18/2024

Product: Salesperson:

House Redding House

Billing Cycle: Estimate #:

Calendar Month

Order Date Range: 03/01/2024 through 03/05/2024 (1 weeks) Media Outlets: KQMS-AM, KRDG-FM, KSHA-FM

On-Air Schedule

Dates	Station	Time/Program	Len	Мо	Tu	Ne	Th	Fr	Sa	Su S	S/W	Rate	Otv	Total
03/01/24-03/01/24	KQMS-AM	06:00AM-07:00PM	60					8			8	A Committee of the Comm		200.00
03/04/24-03/05/24	KQMS-AM	06:00AM-07:00PM	60	10	10			1000			20			500.00
03/01/24-03/01/24	KRDG-FM	06:00AM-07:00PM	30	700000				8			8			80.00
03/04/24-03/05/24	KRDG-FM	06:00AM-07:00PM	30	10	10						20		50.00	200.00
03/01/24-03/01/24	KSHA-FM	06:00AM-07:00PM	30					8			8	400000000000000000000000000000000000000		120.00
03/04/24-03/05/24	KSHA-EM	06:00AM-07:00PM	30	10	10						20	15.00	20	300.00
	03/01/24-03/01/24 03/04/24-03/05/24 03/01/24-03/01/24 03/04/24-03/05/24 03/01/24-03/01/24	Dates Station 03/01/24-03/01/24 KQMS-AM 03/04/24-03/05/24 KQMS-AM 03/01/24-03/01/24 KRDG-FM 03/04/24-03/05/24 KRDG-FM 03/01/24-03/01/24 KSHA-FM 03/04/24-03/05/24 KSHA-FM	03/01/24-03/01/24 KQMS-AM 03/04/24-03/05/24 KQMS-AM 03/01/24-03/01/24 KRDG-FM 03/04/24-03/05/24 KRDG-FM 03/01/24-03/01/24 KSHA-FM 06:00AM-07:00PM 06:00AM-07:00PM 06:00AM-07:00PM 06:00AM-07:00PM	03/01/24-03/01/24 KQMS-AM 06:00AM-07:00PM 60 03/04/24-03/05/24 KQMS-AM 06:00AM-07:00PM 60 03/01/24-03/01/24 KRDG-FM 06:00AM-07:00PM 30 03/04/24-03/05/24 KRDG-FM 06:00AM-07:00PM 30 03/01/24-03/01/24 KSHA-FM 06:00AM-07:00PM 30	03/01/24-03/01/24 KQMS-AM 06:00AM-07:00PM 60 03/04/24-03/05/24 KQMS-AM 06:00AM-07:00PM 60 10 03/01/24-03/05/24 KQMS-AM 06:00AM-07:00PM 30 03/04/24-03/05/24 KRDG-FM 06:00AM-07:00PM 30 03/01/24-03/05/24 KRDG-FM 06:00AM-07:00PM 30 10 03/01/24-03/01/24 KSHA-FM 06:00AM-07:00PM 30	03/01/24-03/01/24 KQMS-AM 06:00AM-07:00PM 60 03/04/24-03/05/24 KQMS-AM 06:00AM-07:00PM 60 10 10 03/01/24-03/05/24 KRDG-FM 06:00AM-07:00PM 30 03/04/24-03/05/24 KRDG-FM 06:00AM-07:00PM 30 10 10 03/01/24-03/01/24 KSHA-FM 06:00AM-07:00PM 30 03/04/24-03/01/24 KSHA-FM 06:00AM-07:00PM 30	03/01/24-03/01/24 KQMS-AM 06:00AM-07:00PM 60	03/01/24-03/01/24 KQMS-AM 06:00AM-07:00PM 60	03/01/24-03/01/24 KQMS-AM 06:00AM-07:00PM 60 8 03/04/24-03/05/24 KQMS-AM 06:00AM-07:00PM 60 10 10 8 03/01/24-03/01/24 KRDG-FM 06:00AM-07:00PM 30 8 03/04/24-03/05/24 KRDG-FM 06:00AM-07:00PM 30 10 10 03/01/24-03/01/24 KSHA-FM 06:00AM-07:00PM 30 8	03/01/24-03/01/24 KQMS-AM 06:00AM-07:00PM 60 8 03/04/24-03/05/24 KQMS-AM 06:00AM-07:00PM 30 8 03/04/24-03/05/24 KRDG-FM 06:00AM-07:00PM 30 8 03/04/24-03/05/24 KRDG-FM 06:00AM-07:00PM 30 10 10 8 03/04/24-03/05/24 KSHA-FM 06:00AM-07:00PM 30 8 03/04/24-03/01/24 KSHA-FM 06:00AM-07:00PM 30 8	03/01/24-03/01/24 KQMS-AM	03/01/24-03/01/24 KQMS-AM	03/01/24-03/01/24 KQMS-AM	03/01/24-03/01/24 KQMS-AM

Station Totals

Station	On-Air CountDigital (Count	Web Count Other	Count	Gross BillingC	Net Billing	
KQMS-AM	28	0	0	0	\$700.00	\$105.00	\$595.00
KRDG-FM	28	0	0	0	\$280.00	\$42.00	\$238.00
KSHA-FM	28	0	0	0	\$420.00	\$63.00	\$357.00
Totals	84	0	0	0	\$1,400.00	\$210.00	\$1,190,00

Total Charges: Agency Commission: \$1,400.00 \$210.00

Total Net:

\$1,190.00

DUE UPON RECEIPT

	Projected Bi	illing By Calendar Month Month	
<u>Month</u>	Year	Gross Billing	Net Billing
March	2024	\$1,400.00	\$1,190.00
Totals		\$1,400.00	\$1,190.00

Accepted	for	Stephens	Media	Group
----------	-----	----------	-------	-------

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

Name



MARCH '24

KQMS

SUN	MON	TUES	WED	THURS	FRI	SAT
					1	2
		and American	8.		\mathcal{Z}_{ee}	
3	4	5	6	7	8	9
	10-	100				
10	11	12	13	14	15	16
17	18	19	20	21	22	23
31	25	26	27	28	29	30

CLIENT:	Patrick Jones Supervisor Dist	; 4 . LENGTH: _	:60
A 1X	INSTRUCTIONS	FREQUENCY:	and the same
B 1X	6 a.m 7 p.m.	RATE:	25.00
C 1X	match	TOTAL:	7 700
D 1X	PATRICK - 1 - 24 R	CO-OP:	
E 1X	PATRICK - 2 - 24 R		

See Order for proposed schedule and charges.	See Invoice for actual schedule and charges.
1. Media Plus	hereby request station time as follows:
IDENTIFICANDIDATE THE	ERAL CANDIDATE E OR LOCAL CANDIDATE
ALL QUESTIONS/BLOCK	(S MUST BE COMPLETED
Candidate name: PARICK June	· 5
Authorized committee: Committee & Elect Pota	Tones Supervison Dist
Agency requesting time (and contact information):	
NA Modina Flus	
Candidate's political party:	
Rapublician	
Office sought (no acronyms or abbreviations):	
Thacks sound Superuse	n Dishack 4
Date of election: 3-5-24	General
Treasurer of candidate's authorized committee:	
The undersigned represents that:	THE RESIDENCE OF THE CONTROL OF THE
(1) the payment for the broadcast time requested has been fur	nished by (check one boy below):
the candidate listed above who is a legally qualified car	
the authorized committee of the legally qualified candi	date listed above;
(2) this station is authorized to announce the time as paid for b	N=0
(3) this station has disclosed its political advertising policies, included and other sales practices.	cluding applicable classes and rates, discount, promotion
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee/Agency	Station Representative
Signature:	Signature:
Name: Chars Eurocari	Name: MANKFitzMAY-W
Date of Request to Purchase Ad Time: 12-4-23	Date of Station Agreement to Sell Time: / //8/2014

MEDIA PLUS

PO BOX 494460

REDDING, CA 96049-4460



Advertiser:

PATRICK JONES (AGY)

Order #:

2723009582527

Contract #:

200745

Date Entered: Last Modified: 01/18/2024 01/18/2024

Product:

House Redding House

Salesperson: Billing Cycle:

Calendar Month

Estimate #:

Order Date Range: 03/01/2024 through 03/05/2024 (1 weeks) Media Outlets: KQMS-AM, KRDG-FM, KSHA-FM

On-Air Schedule

#	Dates	Station	Time/Program	Len	Mo	Tu	Ne	Th	Fr	Sa	Su	SAM	Rate	Otre	Tabel
1	03/01/24-03/01/24	KOMS-AM	06:00AM-07:00PM								<u> </u>	3/44		Oty	Total
2				60					8			8	25.00	8	200.00
2	03/04/24-03/05/24		06:00AM-07:00PM	60	10	10						20	25.00	20	500.00
3	03/01/24-03/01/24	KRDG-FM	06:00AM-07:00PM	30					_			20	10000	77	
4				20					8			8	10.00	8	80.00
4	03/04/24-03/05/24	KRDG-FM	06:00AM-07:00PM	30	10	10						20	10.00	20	200.00
5	03/01/24-03/01/24	KSHA-FM	06:00AM-07:00PM	20					-					20	200.00
-			00.00AM-07.00PM	30					8			8	15.00	8	120.00
6	03/04/24-03/05/24	KSHA-FM	06:00AM-07:00PM	30	10	10						20	15.00	20	300.00

Station Totals

<u>Station</u>	On-Air CountDigital Cour	nt	Web Count Other Count	Gross Billing	Net Billing	
KQMS-AM	28	0	0 0	\$700.00	\$105.00	\$595.00
KRDG-FM	28	0	0 0	\$280.00	\$42.00	\$238.00
KSHA-FM	28	0	0 0	\$420.00	\$63.00	\$357.00
Totals	84	0	0 0	\$1,400.00	\$210.00	\$1,190.00

Total Charges:

\$1,400.00

Agency Commission:

\$210.00

Total Net:

\$1,190.00

DUE UPON RECEIPT

	Projected B	illing By Calendar Month Month	
<u>Month</u>	Year	Gross Billing	Net Billing
March	2024	\$1,400.00	\$1.190.00
Totals		\$1,400.00	\$1,190,00

Accepted for Stephens Me	edia Groui	O
--------------------------	------------	---

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

Name



F1X _____

MARCH '24

KRDG

SUN	MON	TUES	WED	THURS	FRI	SAT
					1	2
					8	
3	4	5	6	7	8	9
	10~	102				
10	11	12	13	14	15	16
17	18	19	20	21	22	23
31	25	26	27	28	29	30

CLIENT:	PATRICK JONES	LENGTH:	:30
A 1X	INSTRUCTIONS	FREQUENCY:	28.
B 1X	6 a.m 7 p.m.	RATE:	10.00
C 1X	rotate PATRICK - 1 - 24 R	TOTAL: —	Z80
D 1X	PATRICK - 2 - 24 R	CO-OP;	
E 1X			

α'	See invoice for actual schedule and charges.
1. Media Plus	, hereby request station time as follows:
IDENTIFY CANDIDATE TYPE	ERAL CANDIDATE E OR LOCAL CANDIDATE
ALL QUESTIONS/BLOCK	(S MUST BE COMPLETED
Candidate name: PARICK June	
Authorized committee:	
Committee & Elect Pota	Tomes Supervison Dist
Agency requesting time (and contact information):	200 CONTROL CO. F. 10 CO.
NIA Modera Flus	
Candidate's political party:	
Kapublician	
Office sought (no acronyms or abbreviations):	
Thacks Louring Superiors	n District 4
Date of election: 3-5-24	General
Treasurer of candidate's authorized committee:	
Lynda Kent	
The undersigned represents that:	The state of the s
(1) the payment for the broadcast time requested has been fur	mished by (check one box below):
the candidate listed above who is a legally qualified car	ndidate, or
the authorized committee of the legally qualified candi	date listed above;
(2) this station is authorized to announce the time as paid for b	y such person or entity; and
(3) this station has disclosed its political advertising policies, inc	cluding applicable classes and rates, discount, promotion
and other sales practices.	
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee/Agency	Station Representative
Signature:	Signature: 43
Name: Charo Eurocari	Name: MANIC FITZMAYEN
Date of Request to Purchase Ad Time: 12-4-23	Date of Station Agreement to Sell Time: 1/18/2024

Fordayal Co. I'll a gray									
Federal Candidate Certification:									
The undersigned hereby certifies that the	The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does (2) contains a closely identified by								
for a duration of at least four seconds and a simultaneously displayed printed by the candidate									
The state of the s									
the office being sought and that the candidate has approved the broadcast.									
Candidate/Authorized Committee									
Signature:									
Name:									
INdiffe.									
Date:									
TO	O BE COMPLETED BY STATION C	VIIA							
Adaptaria la Suri a		and the second s							
Ad submitted to Station?		: 1/18/2024							
Note: Must have separate PB-19 For	rms for each version of the ad (i.e., for	every ad with differing copy).							
Federal candidate certification signed (a	bove): Yes No	N/A							
Disposition:	Westparies - The second	the same of the sa							
Accepted									
Accepted IN PART (e.g., ad cop	y not yet received to determine sponsor II	' ''*							
	, ,	5)							
Rejected – provide reason:									
*I Inland partially accounted form their are									
"Opioad partially accepted form, then pr	omptly upload updated final form when c	complete.							
Data and nature of follow ups if any los									
Date and nature of follow-ups, if any (e.g	., insufficient sponsor ID tag):								
Contract #:	Station Called to	T							
260745	Station Call Letters:	Date Received/Requested:							
Est. #: (a) / 10		1/1/2024							
10/4	Station Location:	Run Start and End Dates: 3/1/2024							
Upload order, this form and invoice (or tr	affic system print-out) or other documents	s reflecting this transaction to the OPIF or							
ase this space to document schedule of t	IME DUrchased when snots actually aired	the reter channel and the first							
parchased of attach separately, it station	WIII NOT UDIORD THE ACTUAL times snots aire	duntil an invoice is seen and all the							
or a contact person who can provide that	information immediately should be place	ed in the "Terms and Disclosures" folder in							
the OPIF.		and management and the management							
2									



MEDIA PLUS PO BOX 494460

REDDING, CA 96049-4460

Advertiser: Order #:

PATRICK JONES (AGY) 2723009582527

Contract #:

200745 01/18/2024

Last Modified: Product: 01/18/2024

Salesperson:

House Redding House Calendar Month

Billing Cycle: Estimate #:

Order Date Range: 03/01/2024 through 03/05/2024 (1 weeks)

On-Air Schedule

#	<u>Dates</u>	Station	Time/Program	Len	Mo	Tu	Ne	Th	Fr	Sa	SIL	S/W	Rate	Otre	Total
1	03/01/24-03/01/24	KOMS-AM	06:00AM-07:00PM					111		<u> </u>	<u> 3u</u>	3/44		Oty	<u>Total</u>
2				60					8			8	25.00	8	200.00
2	03/04/24-03/05/24		06:00AM-07:00PM	60	10	10						20	25.00	20	500.00
3	03/01/24-03/01/24	KRDG-FM	06:00AM-07:00PM	30					0					120	
4				30	-				8			8	10.00	8	80.00
4	03/04/24-03/05/24	KRDG-FM	06:00AM-07:00PM	30	10	10						20	10.00	20	200.00
5	03/01/24-03/01/24	KCHA EM	06:00AM-07:00PM	20		100000			7.20					.20	200.00
_			06:00AM-07:00PM	30		177			8			8	15.00	8	120.00
6	03/04/24-03/05/24	KSHA-FM	06:00AM-07:00PM	30	10	10	1425	1000	8501	1022201		20	15.00		
				50	10	10						20	15.00	20	300.00

Media Outlets: KQMS-AM, KRDG-FM, KSHA-FM

Station Totals

<u>Station</u>	On-Air CountDigital Co	Web Count Other	Count	Gross BillingC	Net Billing		
KQMS-AM	28	0	0	0	\$700.00	\$105.00	\$595.00
KRDG-FM	28	0	0	0	\$280.00	\$42.00	\$238.00
KSHA-FM	28	0	0	0	\$420.00	\$63.00	\$357.00
Totals	84	0	0	0	\$1,400.00	\$210.00	\$1.190.00

Total Charges:

\$1,400.00 \$210.00

Agency Commission: Total Net:

\$1,190.00

DUE UPON RECEIPT

	Projected B	illing By Calendar Month Month	
Month	Year	Gross Billing	Net Billing
March	2024	\$1,400.00	\$1,190.00
Totals		\$1,400.00	\$1,190.00

Accepted for Stephens	Media	Group
-----------------------	-------	-------

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

Name



F1X_

MARCH '24

KSHA

SUN	MON	TUES	WED	THURS	FRI	SAT
					1	2
		The state of the s			8~	
3	4	5	6	7	8	9
	10-	100				
10	11	12	13	14	15	16
17	18	19	20	21	22	23
31	25	26	27	28	29	30

CLIENT:	PATRICK JONES	LENGTH:	:30
A 1X	instructions 6 a.m 7 p.m.	FREQUENCY: _	23,
B 1X	ouini i pimi	RATE:	15.00
C 1X	rotate PATRICK - 1 - 24 R	TOTAL:	420
D1X	PATRICK - 2 - 24 R	CO-OP:	
F1X			